

$$\frac{a}{0} \left| \frac{b}{1} \right. \quad \frac{\acute{a}}{0} \left| \frac{\acute{b}}{1} \right. = \frac{a\acute{a}}{0} \left| \frac{b + a\acute{b}}{1} \right.$$

$$\frac{a}{0} \left| \frac{\overset{-1}{b}}{1} \right. = a^{-1} \frac{1}{0} \left| \frac{-b}{a} \right. = \frac{a^{-1}}{0} \left| \frac{-a^{-1}b}{1} \right.$$

$$\int^{da} a^{-1} \int^{db} f \left(\frac{a}{0} \left| \frac{b}{1} \right. \right) \text{ rechts-inv}$$

$$\int^{d\acute{a}} \acute{a}^{\varrho} \int^{d\acute{b}} f \left(\frac{\acute{a}}{0} \left| \frac{\acute{b}}{1} \right. \right) = \int^{da} a^{\varrho} \int^{db} f \left(\frac{a}{0} \left| \frac{b}{1} \right. \frac{\alpha}{0} \left| \frac{\beta}{1} \right. \right) = \int^{da} a^{\varrho} \int^{db} f \left(\frac{a\alpha}{0} \left| \frac{b + a\beta}{1} \right. \right)$$

$$\frac{d\acute{b} \equiv db}{\acute{b} = b + a\beta} \int^{da} a^{\varrho} \int^{d\acute{b}} f \left(\frac{a\alpha}{0} \left| \frac{\acute{b}}{1} \right. \right) \frac{d\acute{a} \equiv \alpha da}{\acute{a} = \alpha a} \int^{d\acute{b}/\alpha} (\acute{a}/\alpha)^{\varrho} \int^{d\acute{b}} f \left(\frac{\acute{a}}{0} \left| \frac{\acute{b}}{1} \right. \right) = \alpha^{-1-\varrho} \int^{d\acute{a}} \acute{a}^{\varrho} \int^{d\acute{b}} f \left(\frac{\acute{a}}{0} \left| \frac{\acute{b}}{1} \right. \right) \Leftrightarrow \varrho = -1$$

$$\int^{da} a^{-2} \int^{db} f \left(\frac{a}{0} \left| \frac{b}{1} \right. \right) \text{ links-inv}$$

$$\int^{d\acute{a}} \acute{a}^{\lambda} \int^{d\acute{b}} f \left(\frac{\acute{a}}{0} \left| \frac{\acute{b}}{1} \right. \right) = \int^{da} a^{\lambda} \int^{db} f \left(\frac{\alpha}{0} \left| \frac{\beta}{1} \right. \frac{a}{0} \left| \frac{b}{1} \right. \right) = \int^{da} a^{\lambda} \int^{db} f \left(\frac{\alpha a}{0} \left| \frac{\beta + \alpha b}{1} \right. \right) =$$

$$\frac{d\acute{b} \equiv \alpha db}{\acute{b} = \beta + \alpha b} \int^{da} a^{\lambda} \int^{d\acute{b}/\alpha} f \left(\frac{\alpha a}{0} \left| \frac{\acute{b}}{1} \right. \right) \frac{d\acute{a} \equiv \alpha da}{\acute{a} = \alpha a} \int^{d\acute{b}/\alpha} (\acute{a}/\alpha)^{\lambda} \int^{d\acute{b}} f \left(\frac{\acute{a}}{0} \left| \frac{\acute{b}}{1} \right. \right) = \alpha^{-2-\lambda} \int^{d\acute{a}} \acute{a}^{\lambda} \int^{d\acute{b}} f \left(\frac{\acute{a}}{0} \left| \frac{\acute{b}}{1} \right. \right) \Leftrightarrow \lambda = -2$$